


Here are some teen numbers from the lesson on

Monday. How many tens and units?
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Children need practical objects to help them understand
more and less. Counting out a set of objects will help
them to complete the homework.

We have included a set of counters for you to cut out,
you'll have to do it as the children will find it too small and
fiddly to do themselves, but they can help by counting and
sorting and ordering them and putting them in the enve-
lope supplied.

If you don’t want to cut them out then you could use but-
tons, beads, bricks like lego or other small items you have
around the house.

Let the children count them and record how many on the
envelope supplied. This becomes their maths counters
that they will need when using number lines, number
squares or any kind of “sums” for homework.

We do not expect children to work out “sums” in their
head, they need practical resources, paper, pencils, num-
ber lines and fingers, just like we do.

We all need to learn by doing before we can do anything
in our heads. You didn’t learn to drive, cook or use your
phone by by reading a book did you?

Count the Doxes, Count Ihe 1905 and ONes. WIITe how many sots of 1an. Wiite the

number of ones. Write how many all together,
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Use the number line to help you work out the answers to these sums.
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Fill in the missing numbers
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Use the hundred square to help you work out the answers to these

sums.
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Pick a number from the square above....write it down.

Now count one less and write that down.

Now count two less and write that down.

Look, like this... 15 14

Now you try...
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